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GCSE 
SCIENCE A (4461)/BIOLOGY (4411) 

Objective Test Answer Key 
BLY1AP (Human Biology) 

Foundation Tier 

Question Key 

One 

A egg                                1 

B embryo                               3 

C fertilised egg                  4 

D sperm                               2 
   

Two 

A skin                                   3 

B liver                                4 

C kidney                                1 

D gland                               2 
   

Three 

A alcohol                               1 

B cannabis                  3 

C carbon monoxide    2 

D nicotine                               4 
  

Four 

A blinking                   2 

B cells in the eye                              4 

C insect                               3 

D muscle in the eye lid    1 
  

Five 

A 540 cm3                              3 

B 1460 cm3                              4 

C 1500 cm3                  1 

D 2700 cm3                   2 
  

Six 

A antibiotics                  2 

B painkillers                  4 

C antibodies                  3 

D vaccines                   1 
 

 A B C D 

Seven 2 3 4 1 

Eight 2 2 2 2 

Nine 3 1 3 1 

 



 

GCSE 
SCIENCE A (4461)/BIOLOGY (4411) 

Objective Test Answer Key 
BLY1AP (Human Biology) 

Higher Tier 

Question  Key 

One 

A antibiotics                  2 

B painkillers                  4 

C antibodies                  3 

D vaccines                   1 
  

Two 

A an impulse reaches the effector in the leg            4 

B an impulse passes along a relay neurone             2 

C an impulse passes along a sensory neurone to the central nervous system  1 

D an impulse passes along a motor neurone            3 
 

 A B C D 

Three 2 2 2 2 

Four 3 1 3 1 

Five 3 2 3 3 

Six 1 1 3 3 

Seven 1 1 1 4 

Eight 4 3 3 4 

Nine 4 4 2 4 
 

 




